OO0000000IT No.4 20030 60 60
21.
() Dooooooooooo

3x+y+52z2+4w = 3 5c —3y+z—u+dv =-5
. Tr4+2y+4z+w =-1 (b) 3z —2y+2z+u+5v =0
20 +2y+32+50w = 3 20 —y — 2z —3u —v -7
—2x+y+22+6w = 5 —Trx+4y+2z4+5u—3v =14

(2)00000000000000000 (f,,f,f;) 00000000 (e, es,es) 0000

f1:(57_2,1)7 f2:(23_170)a .f3:(3’171)

22. 000 (mn)000AO beR™O00D00 R"OD0000 X 0O X:{meR”|Am:b}DDDDDD
() XO00O0O000000O000 4,6000000000000
(2) XO0OOOOR"00000000000 Ab000000000000

23. () coo0oUo0oOoooo0U0o0oOU000DOoOOo00DOO0O000DO0DooOooono
(2)CrU0U00000000000OU0000ODODOUOO(OOUOOOoOO)
(3)cCrU0U00o0o000oOoOO0Ub00DoO0OOO0O0O0O0Oo(DoooUooOon)

goo0opoOo0O0 =CcO0000odoooooD =ROODOOOO

24. a,=(1,-1,2,1),a; = (1,0,1,2),a3 = (1,-3,4,—1),by = (1,1,0,3),by = (0,1,1,1),bg = (2,1,3,5) 000 O
ai,a2,a3 000000000 R*OOOODODO W,Oby,by,bs 000000000 R*ODDOOODO W, 00000
oooow,+Ww,000 W,nW,00000000000000

25. 20000 f (k=0,1,2,3,4 00000000
fo(x) =1, fi(x) = 2, fo(z) = 2(x — 1), f3(z) = z(z — 1)(z - 2), fu(z) = 2(z — 1)(z — 2)(z — 3)

(1) (fo, f1, fo f3, f4) 0 P(R)(40000000000000O0O0O0D)0000000000OO0
(2) 000 1,z,22,23,2* 000000000000

26. 00DO0O0OO0OO0OO0O0O0O0®M4),(5),6)0 «0000000000000

3r+y+5bz+4w = 3 S5t —3y+z—w =5 3z +5y+T7z+4w =11
1) Tr+2y+4z4+w =-1 @) 3r—2y+2z4+w =5 3) 2r+3y+4z24+3w =7
204+ 2y+3z2+5w = 3 20 —y—2z—-3w =-1 dr+3y+224+9w =11
20 —y—2z—6w = -H —Tx+4y+2z+dw =-3 Sr+4y+ 32+ 11w =14
3x+3y+z+d+a)w = 2a+47
—2r4+5y+z =-1 Sx+2y+6z =9
dr4+y+z—w = a+9
(4) 3r—4y+2z =5 (5) S dx+2y+52z =7 (6)
r—2y+z—4w =—-2a+3
2 —-3y+z2z = a 20 +ay+az =2a-6

3 — 2y + 2z — 6w =—2a+7



